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Prayag public school
Chakmada handia

CLASS 8 NOTES OF AGRICULTURE
Class 08 - Social Science
Time Allowed: Maximum Marks: 14

1. Name the country that is the leading producer of Rice in the world.
a) China b) India
c) Pakistan d) Sri Lanka
2. From the following list of inputs, mention the one that is not a natural input in the agriculture system.
a) Fertile soil b) Sunshine
c) Pesticides d) Earthworms which loosen the soil

3. A few conditions with respect to the growth of Tea are given below. Pick out the one that is apt to Coffee.

a) Requires a warm and wet climate and well- b) Requires cool climate

drained loamy soil

c) Labour in large number is required to pick d) Needs well-drained loamy soils and gentle

the leaves slopes
4. Name the type of farming practiced to meet the needs of the farmer's family?
a) Commercial Farming b) Mixed Farming
c) Plantation Agriculture d) Subsistence Farming
5. In what season is wheat grown in India?
a) Summer b) Autumn

c) Winter d) Monsoon

6. Match the following:

Column A Column B
(i) Indian farmland (a) 210 frost-free days
(ii) Cotton (b) A type of commercial farming
(iii) Millets (c) 1.5 hectares
(iv) Plantation (d) Low rainfall, high to moderate temperature




8. Fill up the missing blank after analyzing the given image
N
Subsistence
Farming

\r/
¥l = s
S~—

Primitive
subsistence
R

a) Intensive Subsistence b) Traditional Subsistence
c) Original Subsistence

d) Primeval Subsistence

9. Analyse the following and identify which one among the following can be treated as Inputs to the agriculture system.
g
Mnctunet}'\ ;
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a) Ploughing, Sowing, Spraying

b) Crops
c) Machinery, Seeds,Chemicals d) All of the above
10.  State True or False:
(i) Jowar, bajra, ragi and sorghum form a group known maize.
(ii) Rice is the main crop in intensive subsistence agriculture.
11.  Fill in the blanks:

(i) In land is used for growing food and fodder crops and rearing livestock
(ii) Wheat thrives best in

soil.
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Solution
CLASS 8 NOTES OF AGRICULTURE
Class 08 - Social Science

1. (a) China
Explanation: Rice is the major food crop in the world. It is the staple diet of the tropical and sub-tropical regions. Rice needs
high temperatures, high humidity, and rainfall. It grows best in alluvial clayey soil, which can retain water. China leads in the
production of rice followed by India, Japan, Sri Lanka, and Egypt. In favourable climatic conditions as in West Bengal and
Bangladesh two to three crops, a year are grown.

(c) Pesticides
Explanation: Pesticides are substances that are meant to control pests (including weeds). In general, a pesticide is a chemical
or biological agent that deters, incapacitates, kills, or otherwise discourages pests.

3. (a) Requires a warm and wet climate and well-drained loamy soil
Explanation: Coffee requires a warm and wet climate and well-drained loamy soil. Hill slopes are more suitable for the
growth of this crop. Whereas, tea requires a cool climate and well-distributed high rainfall throughout the year for the growth

of its tender leaves. It needs well-drained loamy soils and gentle slopes. Labour in large numbers is required to pick the leaves.

4,
(d) Subsistence Farming
Explanation: Subsistence Farming is practised to meet the needs of the farmer’s family. Traditionally, low levels of technology
and household labour are used to produce on small output. Subsistence farming can be further classified as intensive
subsistence and primitive subsistence farming.

5.

(c) Winter
Explanation: Wheat requires moderate temperature and rainfall during the growing season and bright sunshine at the time of
harvest. It thrives best in well-drained loamy soil. Wheat is grown extensively in the USA, Canada, Argentina, Russia, Ukraine,
Australia and India. In India, it is grown in winter.
6. (i) Indian farmland - (c) 1.5 hectares
(ii) Cotton - (a) 210 frost-free days
(iii) Millets - (d) Low rainfall, high to moderate temperature
(iv) Plantation - (b) A type of commercial farming
7. Tertiary activities are those which provide support to primary and secondary activities.
8. (a) Intensive Subsistence
Explanation: Subsistence Farming is practised to meet the needs of the farmer’s family. Traditionally, low levels of technology
and household labour are used to produce on small output. Subsistence farming can be further classified as intensive
subsistence and primitive subsistence farming.

() Machinery, Seeds,Chemicals

Explanation: Agriculture or farming can be looked at as a system. The important inputs are seeds, fertilisers, machinery
and labour. Some of the operations involved are ploughing, sowing, irrigation, weeding and harvesting. The outputs from the
system include crops, wool, dairy and poultry products.

10. State True or False:
(i)  (b)False
Explanation: False
(it)  (a) True
Explanation: True
11. Fill in the blanks:
(i) 1. Mixed farming
(ii) 1. Loamy
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